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Problem quickname: 8100

1)

Calculate the result.

a) 0.52 +5.2 b) 0.77 = 7.7 c) 0.27+4.5 d) 0.69 = 1.15

e) 0.77 +5.5 ) 0.31 = 1.55 g) 0.83 +8.3 h) 0.84 +1.75

i) 0.45+9 j) 0.52 + 2

2)

Calculate the result.

a) 278.7 + 3 b) 801.8 = 4.75 c) 144.8 = 7.24 d) 785.4 - 1.87

¢) 444.6 + 9.5 f) 488.6 = 7 g) 218.4 + 2 L) 652.4 =+ 4.66
i) 354.9 + 9.1 i) 634.6 = 4.75

3)

Calculate the result.

a) 503.8 = 55 b) 554.8 =+ 76 ¢) 545.1 + 57.5 d) 361.1 = 46
e) 326.4 = 76.8 f) 530.2 + 44 g) 634.5 +— 45 h) 684.4 + 58
i) 851.4 + 77.4 i) 883.8 = 45

4)

Calculate the result.

a) 5.141 + 514.1 b) 4.753 + 237.65 c) 5.026 + 552.6
d) 6.668 + 133.36 e) 7.637 = 763.7 f) 7.736 + 193.4
g) 7.623 = 762.3 h) 4.485 + 448.5 i) 7.234 =+ 7234 j) 8.204 + 820.4

Good Luck!
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